CR IR BT

- s M S |
94 FEAKETEHER Bfir : FiE

H H TEETHEEL FEEEYH Sl
B R W 5T 8 113,115 113,115 0
B 5 138,471 138,190 281
= =t 251,586 251,305 281

R s

AT A% B R S B A N 15,917 12,074 3,843
W B % st B B 1,417 455 962
E 2 & fF 930 899 31
= =t 18,264 13,428 4,836

MFREAGREPEIEREER

¥ N o 94 R ELE = =

s REGHEAR (P | wireme | e
AR S E S TR 74,723
— ~ BRI 74,723
(ONsREREEE > TR ERR K 80
158 EE EERH S E 80

1 (DGR R BEFHEY I L E s s ok 80 [FHEHIFEME= | sRfZE(C
COMEYERE R EERITAE 69,643
1. ESEYRHsE e 19,860

2 (HOEHEKR BB KB SRR i 6,060 PEEEDREE |3F&%E

LR B 3t Z 5% 1,300 SRR

2 B B T 750 SFEW

3R LA & M e E B 800 SFEW

4. BEMHRLIEES 1,110 FFEE

5. RENIE LSS 1,200 Y

6. 7K AR R il e 900 = fH 5

3 QED > BRLMENEHEES 1,710 [FHEBLEEIE= | MGl

=HE 13 S B b g A

4 (3)§< rh g T B R OR (P AE ) B i B RS R il i 3040 IS REsEE T | SRR

LT S ORGETE Y 2 B e e LB 38 BRI F 22 9T 2,800 sRFE(C

2.3k BLARAC R R 2 SEEY) 2 R BT 440 VA

5 DA EMEY A B R E 2 1,350  [FEfEBDRE = | 2{#HE

62




6 (5) BN H R EE b 2 P AE B AE 4 2 T (7) 4,500 [E{EEDREE |54

7 (6)BE BB KR TEF(EEEE) 1,000 FE{EBUREE | ZEHE

8 (e E S E A NS Kk 2 S (EEAE) 1,000 [EEBDREE | FFEE

R 5 A AL o

9 @iéﬁgéggﬁﬁﬁiﬁ*%@%ﬂEZH 1000 |EfEELpE s | dpm
2. EEMEYIRHE S R 38,633

10 (1)Z e A e B R R Rl e 9,500 |HEfEzEE | EMKC

L& & B R = 5 & A E R 2,100 SREUE

2 AT R A T B 8 4,350 BEIE

3.GEE AR R R R EE A R 1,250 TREE

4 BB SUE W9 1,800 SRR

11 (2)Z B Al B R AR Rl i 8,560 HEMITE | FMER

L fE i B 6,340 Bl %%

2R SRR S AT BT 710 BRAE

3 A REHC RIS T 2 B 38 850 =

425 B EE BRI EN > bF2 B LR 660 A

12 ()= FEAEFF L B AR R fliT o 11,383 [{EFFIASL=E | EFaf(E

LAGAE ~ SO AR 2 FiE 2,413 BEF

2REFEEE - BOLUCAE RER 2R 1,700 I

3 IR B 5T 1,120 ]

4 BB BT EHEA IR 1,500 BT

5. D EE SE T S 4,650 FEILAC

13 (4R E EEE L2 EE A () 7,490 |EYIAERR | HHIESE

| (BB fE L S A R 5,770 HHIE2E

2EUEBE RIS EEER A 1,720 L FIE

FNSEZ A HiES R 56 ke A . e

” m;ﬁggégﬁm W8 LRV R E A R 1700 [ £
3OKEIIEAETIHE 6,900

15 )& EYAE B RS 2 & 2,700 | T-AERFSEE | BRTESA

16 (D;i%@%%%ﬁﬁ%Zi%%@@&&%% 2000 |FEERRgEE | ZEeis

() =5k K Uk B SR 2 B S B E N Y

17 (R ) 1,000  [EREEER STats

18 OEBEEEE R BEIL(EEEE) 1,000 | T-HERATRE | ZEEIE
4. fJ0 58 R SE M S U B 58 4,250

19 ()= sk fE Y A R Last i W 5% 4,250 |EHERTTRE | {5
(VU) 38 2 R i S R Al - T EE L 5,000
2. Bl 8% B St AR B PR Rl 5,000

20 ()FEFRA N E AR IRl W72 (G8t) 5,000 [EFFATEE | HES




DR T R PR E 6,800
— BRI 6,800
(—)HEBIRE LR ~ BUCR -~ SIS > RIEE S HH
i 6,800
2. fn5e EESE BUR BRI S5 3,000
ST (SRS B S I 0 A T A =
21 (1)§£;?§§?E{§EE§DB%IE B R L 3000 |amies  |mmm
3 RSO R EE T HE A B S AT 3,800
1) [ R S A 2 R ) T - DL o I o
BRI T PR E 7,697
= - BEMENE 7,697
(—NIZREESE AT ~ AT B R ARSI - TR AT 7697
HES ’
2R A W5E 1,467
23 (HEHiEE R G EEHEBE K25 740 HEFBARE | HEYESS
24 QAR THEFEZ R G E) 727 AR E | RS
3 N R E AR E 2 B 5 6,230
25 (Dsa bt 7t F R H EEEE T3 5T 2,000 |ENIEE | GEE
Y S TN T = E et 5% R - TR Py A
) (2)%5??@2%;52%);%%3‘%%ﬁ@iﬂﬁkﬁﬁﬁ% 4230 | | EmE
YIRS R R T R PR et 4,105
i~ YR 4,105
(OB EYREM > FEESPHESE 4,105
A TE YR R R v B SR AR el 2 Bl 8% 4,105
H Sl ~ =3 f
7 (l)ﬁiggfgi#@z*ﬁ/ﬁﬂ A TR AR AL I oy A L 3105 [emmies  |pmas
1 B RETE (E Y i T S e RS S 8T 1,800 S
2. R T e R RL R 7 A 2 BT 1,305 Bits 2
28 QU= AR E RS A L (EEETE) 1,000 AEFWRE | BERE
HEMCEERHE 3R T P24 2 5,050
N~ EREEAEBNE 5,050
()hmsEEatERE A HIE 5,050
2EE4LEAHIE 5,050
29 (D&t N EHEEZE A B b % 2 JEFWTSE 1,250 |[EmRE | SRR
L AT 2L f L £t
30 (2)2;;Z;B§$§§$§Zfz eI R EE HENE 1000 |mmepres | meEs
a1 (3)?%g2§%§ﬁ§§ﬂﬁ@§§[EE%UJHET%ZHF% 1000 |mpsizes | mEd

64




0 (@fi)@%fﬁE%ﬂ%ﬁ%ﬁ%ﬁﬁ%ﬁﬁ%ﬁ% 1000 |mpizes | mma
33 (5)a& i F BB L ThEEEE B A1) 800 B E | S
E (LR SR T R PR 3,400
- B¥EETh 3,400
(—)EEEEEE TSNS A e A 3,400
|EEYEE &S S T HEA 3,400
1) B T s S B R B R B (S 1T B £ EhoE
34 ()§§%§$EE@J SARTTEY 240 2 B 2T 5E 3400 i | EE%
VISR SIS R T E AR 2,200
L~ eI EE R ETREE A A 2,200
(—) R A E 2,200
lLE¥REHEERRE KA 2,200
35 (HETEEEEEEHEE R 2RSS 1,500 AR E | S
36 Q=B F L R EIE YR T EAR M 2 S & G5 700 ERHEE | MR
BRI R S PR E TS 9,140
+= PR 9,140
(Z)BASEEYITER > et EEH T 9,140
1.GH S BLE FHEME YA E4YhE Rl 9,140
1) o 0 34 [ B B AR TS E Y s o 2 L il
37 ()fgg{é)jﬁg}%| FAEY 7 e B B R T 2 B 6.400 [EEFiEE | GEE
38 Q)PP E MBS I B I 2 T B4 RF () 750  [FEMIRFRE | ELW
QYR 2l E MR EERE
39 T () 650 [fEEIIEE | BHEL
¥ U7 = e B R & ES:
40 ()a;I gga”fﬂﬁm EH N e R A 700 WEEHEE | B
41 O EFFE T TT G 640 [EARE | EXE
EET(113,115 Foo)4H a0 s B—4kEt 59 (AR 113,115
MFERGESRIAREER
Smok | ARIEERAL ZeRLEA — FEETE KE(OTD)
94-01 | fEYIEG B3R |10 A E] — Frgd R e 69,500
94-02 | fEYIEG BER BTSN E] — B afEa /KiE s 111,000
94-03 | {EYEEIEER [EOEAE — ek 100,100
94-04 | {EVBEEIEER (AR E — P aFing 85,700
94-05 | fEYEEEER [GRAE — B atl AR 75,400
94-06 | {EYREHER (FEEAE - P aE & 55N 78,900
94-07 | fEYEEIEER |FEHAE —PaER ARG 88,000

65




94-08 | fEYRRIEER |BHARAE] — P atliAetE 78,900
94-09 | 1EVIEREGR | KIFAE — T el R R 113,100
94-10 | {EVIERIEER | KA E — A/ K EErasvE 54,500
94-11 | {EPEEIERR |2\ E — IAK IR SR 66,400
94-12 | {EVIEREEER |RIEFB A E — P af & Hi s 78,900
94-13 | {EVIERIEER | WL AT —PasaEkE B 2 & hu bt Bl 85,400
94-14 | (EYREREGR | TLEAE —afRE: 100,100
94-15 | {EVERIEER WL A —UaskiTa E R 95,400
94-16 | (EVERIEER JeEe N E] — MEARE AN & H AN 60,400
94-17 | {EYEREGR Bt A= — G ER NEE H N 75,400
P 1,417,100
I EEABRIN BT E R
mk | AR RIEEAr — (R ETH KZEOL)
1| BEHER HEy — FIES MBI E G 7,500
2 | BEHESR EEw — IESEE 52 3,000
3 | B e — I EEHEGRER) 18,870
4 | BFEMER HEg - IEESHPEGEREER) 45,000
5 | BEMER BEE -4 EE 11405 280,000
6 | SRR B — o4 B — 11-1—01 1,569,000
7| RS EEE 94 BB —1.1-1>—08 1,000,000
8 | EBIEHERER | BRI 0 — 94 BB — 5.6 —02 1,051,000
9 | BEMER EILEEEHAT 94 BRE 433 —01 80,000
10 | BEHER Z2EEET 94 EBE 59801 20,000
11| BEER EEERg -4 BT 54607 500,000
12 | fEYEEsE R |ERlE — NSC94—2313—B—067A—001 934,000
13 | (EEsissy |2mE 94 R 14118 —Z1 1,150,000
14 | fEYEREE BT — 94 B —3.10—& —01 1,200,000
15 | (EVIRIEER BAEE 94 BlE—3.8—& 01 60,000
16 | (EVIREEER BAEE -4 BAE-3.1-fE 03 100,000
17 | fEYERSRER RS — 94 B A e —2.1— &0l 20,600
18 | fEVERIEER B8 — 93 Bl —5.7—E—07 50,000
19 | (EVIREEER BfEE —94 BEE 3.1 fE—04 1,215,000
20 | fEVEREEER BT — 94 fEhaHEE —fE —03 140,000
21 | RV By — US4 2 KB EA BN 20,750
22 | EVEREEER PRORE — 12 R B f S a it Ty [a{8 5T == 65,000
23 | EVIEREER (B A A — 94 BE—2.3—1F—03 46,000
24 | (EMEBEEE (R — 94 BRI —8.1.4—F—N2 700,000
25 | FVEESEER VikemEt o /m —93 Bl — 1 — 1517 —07(2) 80,000

66




26 | (EP)IREEER [Vitwfm — 94 B —3.1—1E[5—9 160,000
27 | {EIRERER [Vikwfs — 94 B3 —3.1—1EF -3 208,000
28 | TEVIBEBER [ikef — 94 B - 3.1 — MR —4(1) 600,000
29 | fEVBESEER [kefE — 94 B 3.1 — MR -5 50,000
30 | EVIERIRGR ke — 94 B 3.2 fE[ — 1(2) 60,000
31 | fEVERERER [ife)s — 94 ReBhai%e — % — 01 1,515,000
32 | fEvpEEEEE 5 — 94 B2Rl—13.2.1— 1 — BB 230,000
33 | EVIA R (B EE T HRT e b0 — B EEE Mo 900,000
34 | EVI R | TEERiTi el — 28R 82 FEY) GAP 35 200,000
35 | EYIRA RER |BIEE —94 BfE—2.1—{F—01 270,000
36 | EVIL R BAEE — 94 g —5.1—FE 01 440,000
37 | EVIL R RAEE 94 g —33-F& 01 120,000
38 | EPICA R AR — 94 SRBlFEE — R —02(1) 105,000
39 | EPIA R [RAEE — 94 SUBNFERE — R —02(2) 63,000
40 | fEVIEG AR RARE — 94 BKR 5.1 —FE 05 140,000
41 | fEYIG B RS 94 Rl - 1318 —ZK 100,000
2 | FYER BEE 94 BR 13218277 200,000
43 | fEVed Bk BAERREUT — S ER S EIER 54 A EHAR 200,000
&% 15,916,720
MFEARGEBRESEMESELEREER
WES AR O
| RS I R P
1 | EYIE Baf | R A A A 2 Br CUR e AR A E]) | 1,000 120 1,120
2 | EVIR BiR |BE RECREERTZ ERGEEEEARLS | 1,000 | 120 1,120
)
3 |(EVeR AR | e i E S E VA R FREE (RTigaE ) | 1,000 | 120 1,120
4 | EVEEssR R BB TH S RIS | 1,000 | 120 1,120
TR
5 |(EVEREEER BN HERE B B E s [ ThaE 2 iAE | 1,000 | 120 1,120
(TO4Ertim A TR A H)
6 |(EVIEREEER |30 F EEBh 20 ThAE (E St 2 i B (L 4 b i 800 90 890
HIRAE)
7 | TEVIEREEER | T =5 R USSR AR B /1 2 B EARER | 1,000 | 120 1,120
(ESEEARAH)
8 | {EVEasaR A e S T T CRIB M E ) 1,000 | 120 1,120
=k 7,800 | 930 8,730

67






